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L=l st s w2 B Qb e 5,420 5,270 150
1.3 55 0 100 -100
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1. 0354 8,254 7,154 1,100
1. ARSI (A =) T 434 434 0
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2.71%2EA 2,200 2,200 0
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1.E7| A ns 11,940 9,940 2,000
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1. WS- 1,200 800 400|292 FAFLE 1 40,0009%10% = 400,000
3. S Ig G 7} 200 500 -300
1. 0o 0 300 -300 |8 7}7]7] Z=2]4] : -200,0009%13]= -200,000
F7HEE 1 -100,0009%13]= -100,000
2. 4Rkl Fx] 200 200 0
4.3+ 73 7 700 700 0
1. 4Rk=8-] 700 700 0
2. A = 488 1,768  -1,280
1.8k E 2 of ) 320 1,600]  -1,280
1. uEH g A 24X 93] & 320 1,600]  -1,280
1.95% 0 1,280 -1,280 |91 95 -1,280,000913]= -1,280,000
2. 0S| 320 320 0
2.8k m & 168 168 0
1.9bd m s 168 168 0
1. WS99 168 168 0
3.3%5A9d &9 14,700 9,300 5,400
1.5 489 0 100 -100
18528 0 100 -100
1. 05893 H 0 100 -100| 570 2 -100,000¢«13]= -100,000
2. [F3]78 B3l 14,700 9,200 5,500
1.8t 13k 9,200 9,200 0
1. 059N 3,200 3,200 0
2. ¥]FETH] 6,000 6,000 0
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1. k=89 5,500 0 5,500 i&ggﬁj)%g;ﬁoii %‘;'il;:jfﬁmug 5,500,000
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15471889 12,673 12,673 0
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2,414 ] fA 47,233 53,029|  -5,796
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